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MA 161 & 161E FINAL EXAM SPRING 2002
Name Student ID Number
Lecturer Recitation Instructor

Time of Recitation Class

Instructions:

1.

The exam has 25 problems, each worth 8 points, for a total of 200 points.

2. Please supply all information requested above.

3. Work only in the space provided, or on the backside of the pages.
4.
5

No books, notes, or calculators are allowed.

. Use a number 2 pencil on the answer sheet. Print your last name, first name, and fill

in the little circles. Under “Section Number”, print the division and section number
of your recitation class and fill in the little circles. Under “Test /Quiz Number” print
04 and fill in the little circles. Similarly, fill in your student ID and fill in the little
circles. Also, fill in your recitation instructor’s name; the course, MA 161; and the
date, May 1, 2002. Be sure to fill in the circles for each of the answers of the 25 exam
questions.

Show your work. It may be used if your grade is on the borderline.



MA 161 & 161E FINAL EXAM SPRING 2002

sm T

1. If f(z)= , then f'(z) =
A 00ST
i cox)(x*) — (sinx)(ax 2z
Sﬂ\ x) = ( ) X“ ""Z B. (cosa:)(?a;) (s1na:)(a:)

@ (cos ) (z?) (sm z)(2z)

(sinz) (2:1;) — (cos z)(z?)

4

D.

(sinz)(z?) — (cos x)(2x)

E.

2. If y = (2% + z) tanz, then _;l_y =
z

(2x+l)tan$+(x +z)sec’x
° 2
%,: (’3J<+ I) TonX + (X *\)SPC)C B. (2z+1)sec?z + (2% + z) tanz
ax C. (2z+1)sec’z
D. (2z+1)tanz + (2% + z) cot
E. 2z +1)tanz + (% + x) csc? z

3. If f(x) = sin(2wz?), then f” (%) =

A. 4r
&L(X) = HIX &»o(pﬂT)C‘) B 9

o . i
%“Lx) = 4T Coarmx) “‘Q”T’Q (”‘ s (3IX )) C. —2n

—4r?

Q“(—,‘;) = 477 Coo__g: + 4”9('5i“175:) E. 2n% 4

I

-y
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4. Which of the following is the derivative of y = /z + 1 at a = 27

I lim \/:1:+ \/_ QMN\ M A. Only 1

z—2

X A X — 2 B. Only II
I tim x/t+1—\/fv+1 C. Only III
e b-w Only T and TI
nly I an
. \/3+ V3Fh-v3 _ Qi §aan)-Le
I Jim 20 A @ Only T and TII
~0 h=3 O n

9. Given the following graph of the function f, which statements are true?

y L lim f(z) = /(-3)

IL. lim f(z) does not exist
z—0

T ITL.  lim f(z) does not exist
T2~
A. Onlyl
B. Only II
C. Only III
Xy — 1 D. Only I and III
I s -FO-—Q—QQ . @None are true
X =
, - T‘T IS ‘Fql L
2w = ©
X
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6. If 2%y — zy® = 161 defines y implicitly as a differentiable function of z, then Tr

FINAL EXAM

thé xyﬂ)~szx§z+x (g& +3x6tM)

"&D;T(”"')”

SPRING 2002

dy
T
A. 0

B. 2z — 3y2

. Y3 — 52
2z — 3y?

. 3
>< ® 5=z
% G 2 — 3:1:y2

zy3 — 22y
© 2z — 3y?

7. Let f(z) = g(h(z)) and A(2) = 3, h(3) = 2, K'(2) = —1, h'(3) = 4, g(2) = -2,
9(3) = =3, ¢'(2) = 5, and ¢'(3) = 6. Then f'(2) =

o= g ko) by,

f'ay= g/ (@) h )
a'(3)- h'@)

- Q ‘(.“'):"

8. tan(sec™12) =
i

L et JJ-:SEC a. .
Noan Scacgi = A

Tony = |3

A 15
()=
C. 12
D. -5
E. 6

®):

= s (e)F »
NIH[‘DI«) %mlﬁ W
)
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9. The line tangent to the graph of y = f(z) at (2,4) is parallel to the line tangent to
the graph of y = 2% at z = 1. Find f'(2).

Let 8.00 = ><3/ gt'(x): 3ij 8,(')=3~ .
¥ /. z
~(; () = 8. ) =23

D. 1
E. 0

10. A colony of bacteria, growing at a rate proportional to its population, begins with 150
bacteria. Two hours later the population is 600. How many hours does it take for the
population to reach 3000 bacteria?

bt = 600 21n 20
P(x)= 150% , P . nd
) 2 n
Oay . it _ C. 2Inb
300 = 150 €2 = so( 4 7) D. 2in (1)
5
— Lo = L}Vl._—)ﬂ,,\aozggnu p 2nd
" In2
b= Q./O/y\lo
: vy

X —1 X+ 1

2 _ PN
o T [a SN (x_l)

X —j 00

X<O | Ix|l= —X.

2

©-2

E

A.
B. -
= - C.

0
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12. The number of vertical and horizontal asymptotes of y = —2_q B
x J—
X= x l a e \/Qv*h L GS7VV\ FTD—\VeS. A0
B. 1
¥ = O 1 S a vevte QSVW\\D"’OTC’- c 9

ﬂJw\/\)Z'.(—QV\lX’_li_ «QM/\/\ lx+[l

D. 3
X deo x'—| X o X E)+

H Qo & —
T = - 4(/}:_:] 1S @ hovi 2o L
X-’»;tao N asymr"roTQ/

3(z —1)?, ifz <0

. What value of @ makes f continuous at z = 0?
2coszx + a, if z > 0.

13. Let f(z) = {

,Q)/\/V‘\- _ 1_. A 2
X O 3x—1) =3 @1
9\.,(/1/\/\ _t_a C 0
X—o @C@X_EQ') & D. -1
Ata = 3 B2

a = |

14. When a stone is dropped in a pool, a circular wave moves out from the point of impact
at a rate of 6 in/sec. How fast (in in?/sec) is the area enclosed by the wave increasing
when the radius of the wave is 2 in?

: _ 2- o .él’,- @ 247
v A =Ty = At 6 B. 207
F\no( E}Q——g— whon Y=2 C. 16r
ClA AT v dx C\ _ é D. 12rn
&7{/ &* QJT‘ 9- ¢ E. None of the above
= T,
geC
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15. Find the difference between the local maximum and the local minimum values of the
function f(r) = z3 — 3z + 27.
l 2 A 6
f=3x =2 =0 — x=21. oF
a_oo ¢ Loged Max wWhen X =—|
{ xj= 6Xx .. =0 C. 2

Lo 2 Min When X =1. D1

¥Q"l* —\:(') = 9~c1 — LY = l—i— E. None of the above

16. The absolute maximum of f(z) = (1 — z)\/z on the interval [0, 4] is

i | _ : A0
‘VQX]: "‘Vr?-( +&"’7()g~\)-;c = O o B 2
— V3
= " 3IX + | —X =0 4 X=3 /3
C.—g—

— —
X=0 xX= 3 = o1
3

Ofv:

17. If —g < z < m, then the largest interval on which f(z) = zsinz + cosz is increasing
is

A (-Zo
-P'Qx) = SinX + XCeoX —Sin X = X (o X. ( 2 )
B. (-X T
— Texe O O <X <« I lTéXé?T -(22)
* i > g.l C. (O,g
te) < 0 f&xivy o t <o :

__ N
E.
-C IS \Y\CVQGS"E;‘
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18. Given the graph y = f'(z) below, select a graph which best represents the graph of
y= f(x). Y
y = f'(z)

] T

A. y B. y C. y

% B
— T \\x
‘Y'(X) >0 -C IS checcS/mC;z. SO o»\)/

B AN D AAg f’yossi lole-
&‘WA’FI@): O R fe)= O

X —oe X = = o

v Ne ANY | S D
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19. A right circular cone is inscribed in a hemisphere of radius 2 as shown below.

h .
Find the ratio of height to radius, —, of the cone that has the maximum volume.

(V:%wrzh). MaXimi 2z e S%UYL\/\'
\nl-k-\(l: L A 1
- 3 3
- >, - A —
V= 2w = L (wh— W), o
< *_ 4 1
EL\L:J,(q_3L\):O \/\**5' @ﬁ
A 3 N Ay oi-Q\n:—b
Dot h>o SO h = 73" > V> D-;/i
> > _ 4 = 5 B3
X :ﬁ"\" - 3 ) >,
vz WL = \
Y= =—— -, » - = L
& v ? ra.
)

20. Let f(z) = 1222 on [0,2]. Let the interval be divided into 2 equal subintervals. Find

n
the Riemann sum for this partition, Z f(z])Az, where z¥ is the midpoint of its

i=1
subinterval.

> fa=1ax™  Ax=| . A. 60
( f(x)=3. () 30
an. ©®

A

D. 15
E. 45

—?L%_)AX + Q{%)AX =30

\ '4‘_ Ta/Lq._
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1 3 3
2. If / f(t)dt =7 and / f(t)dt = 6, then f ()t =
0 0 1

> ! « ~1
S fwdr = S%)&% t Yﬂﬂcu' 1

B.
o C. 13
A T+ gﬁe\&i’ o
E. Cannot be determined
g)¥(£\&>Q = —|
22. If f"(z) = 2+ v/Z, £(0) =1, and f(0) = 2, find f(1).
i 2h E
-?sz?':xl-k%:x + C A 3;)
9~ - | y B. 36
t > TN 1
fo= 20+ 35X+ % C. lg
> Y.
‘, | u_ x +Ca . D 4k
_\1 xj=gx T s X * *5
| - C’J. _Q(x _9(4—-———7( —kSLX-H @3
‘ ) = L ¢+ H +1 =2+
o ~QCI) z + 3 + * 50

- _
23. If F(z) = / cos(t?)dt then F'(z) =
0

A, —sinz
{
FX)= CoX - 4 B. /zcosz
VX @ COs T
) 2z
D. —/zsinz?
2
cos T

10
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\7a J
% 2 — -—-Q/\f
24./ sin? z cos zdx = S u S =
0 0 .
\/_
= $in X M‘CXDKM q9
Le‘\' o J _ a‘)a B U-L .;2
x;o) uzoﬁ T g ) B3
x=f , U= . C. ?
D. T
4
T2
B =5
1
T
% /_1 v 1
A 2(v/2-1)
_YOC - 1S an OAF{ “CLV\C‘\W(/V\_ B. V2-1
x—v\ C. 2
Q(“X) —= -—-—(;QX) E 1-v2
. 0
\
\ X dx =0
T .
o Lef o= X+ '\W‘&A:ixcgu
A‘TD/\V\ c“ Lve 7 S0 X&/f(‘: ‘5? .
= O~
TL x=—1, M
J —
x=1] u =

‘ A, — )
=-I=-;z§-v:f~© i



